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63.

64.

65.
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67.

68.

69.
70.

. (D) 1ytldef dh xfrfof/ fp e

HARYANA MOCK TEST - 96 (SOLUTION)

) fel idij]

JLNP

N

-1
-1

nlh idij]
SUWY R
?

Sl

-1

)LV i 1] 32+2=11,
vc]72+2=51
;inoigyn LK x rFk nBjh B[k 2 + 2 gh

(B) /eR, 0og g tk viu Ze dk R;kx nrk gA mlh
idij] n*fnfgh og g th viu n'k d iR fo" okl %r
djrk g

(C) diMyk dk Nimdj IHih fgeky; dh Torekyk g
tefd diMyk xtjir e Tenh cnjxig gh

(©) Igh vu@e
abb/aab/abb/aab/abb/agh
n*i;h xb gh

A C N

E 4~7
Y W E
<«

B

S

4 km

4 km

fclh ¢ I A ("kzwvirh fcln) 1j igpu d fy,
iyhldeh dk if*pe "k e pyuk TMxK

(C) fn; x; lehdj.k €]
15-3+10%x5+5
fplg dk cnyu d cin]
15x3-10+5+5=15x3-2+5
=45-2+5=50-2=48

AT R O K F 2z S
[ 1l 1l 1l fl l t
-2 -3 -4 -5 -6 -7

(B)
(A)

Ph:

71.

72.

73.

74.

75.

09555108888, 095552088838

(B) 10W x 7D = 10C x 14D
1W =2C
. 5W + 10C = 20C
-~ 10C dk; 14 fnuk e 1jk fd;k thrk gh
VFir] 20c dk; db ijk dju e 7 fnuk di le;

YXXIA
(B) luk  plnh
80 20
80 20 0 vrj=300 <
95,, 5., 380 20
80 + 20 VFir pinh dk cjicj dju ij

100 bdib = 50 xie

- 1bhdlb = Xke

L
2
80 rfik 380 d chp dk vrj] VFr 300 bdih =
150 xle-

(C) 1gy wvuikr di 2 1 e cnyu ij

4 : 6 : 9

\ \2 \
4x 6x 9x

x5 Ix2 Ix1
20x 12x 9x

vc] dy =% 410
[20x+ 12x+ 9x] =
x=10

-~ %2 d fIDdk dk eY; = 12 x 10 = 120

410

~x2 d fodk di 13t = 25> = 60

(B) eluk fd "kzwir e xwvineh g] rk 1 vineh di;

dk 60x fnu e djrk gh

nljh fLRfr e] 1 wvineh dk; dk
djrk g

VC] 60x = 50(x + 8)

(x+ 8) 50 fnu e

400
nx= 75 =40 Vineh
0 v
(B) % Y = Girfod ev; —Ewp * 100

= S0 x 100 = SE"/ = 5.26%
950 19 (o . (o
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76. (B) 3M+4C=—
T - tC] K=2,120 x 2 + 3 =243
3M +4C=2% 108 ifr fu (i) VHIV 1K
3008 .
11M + 13C = . ;09 1 1.krk foHiT; gh
11M + 13C=% 376 (i) | 790 B) 0k 52] 13 dk x.kd gh vk VHI'V "KkiQy 45
lebdj.k (i) rfik (i) 1] di 13 1 foHiftr dju ij ikir gixid
11x3M +4C = 108X11 nyowpu s _
cjlcj _[ VHI'V "Fily = 6
»11IM + 13C = 376,, 80. (D) fodVi di VHIV I[;k = x (el
33M +44C = 1188 ) _
33M +39C = 1128 1"utuli]
— — 12.4 x x+ 26 = (x+5) (12.4-0.4)
5C =60
= (x+5)x 12
= 12.4x+ 26 = 12x+ 60
M=20 =  12.4x-12x=60-26
eluk fd] vHI"V le; xg] rk N 0.4x = 34
x (7 x 20 + 9 x 12) = 2480
34 340
x=%=1ofnu = X=04 "4 °8
77.  (C) +20% - 20% + (+20%) of (_—20%) - 4% | 151. (B) Remove 'Hardly' as 'not' and 'hardly’
78. (D) ge 5, 6 rFk 8 dk y%lke lekioR; Kir djuk gh together make the sentence superfluous.
Z: g x 2 155. (C) Replace 'little water' by 'a little water', as
8 =03 little means equivalent to nothing. 'A little'
—23x3x5=8x 15= 120 means at least 'some’.
HARAYANA MOCK TEST - 96 (ANSWER KEY)
1. (D) 11. (C) 21. (A) 31. (A) 41. (C) 51. (D) 61. (D) 71. (B) 81. (D) 91. (B)
2. (D) 12. (B) 22. (D) 32. (C) 42. (A) 52. (C) 62. (D) 72. (B) 82. (A) 92. (O
3. (A) 13. (A) 23. (A) 33. (C) 43. (C) 53. (B) 63. (B) 73. (C) 83. (B) 93. (A)
4. (D) 14. (A) 24. (B) 34. (A) 44. (A) 54. (B) 64. (C) 74. (B) 84. (C) 94. (A)
5. (B) 15. (D) 25. (A) 35. (C) 45. (A) 55. (A) 65. (C) 75. (B) 85. (C) 95. (D)
6. (C) 16. (A) 26. (B) 36. (B) 46. (D) 56. B) 66. (D) 76. (B) 86. (C) 96. (A)
7. (B) 17. (A) 27. (C) 37. (A) 47. (A) 57. B) 67. (C) 77. (C) 87. (A) 97. (O
8. (B) 18. (D) 28. (A) 38. (A) 48. (A) 58. (A) 68. (A) 78. (D) 88. (C) 98. (B)
9. (B) 19. (A) 29. (A) 39. (A) 49. (B) 59. (C) 69. (B) 79. (B) 89. (C) 99. (O
10. (D) 20. (B) 30. (D) 40. (C) 50. (A) 60. (B) 70. (A) 80. (D) 90. (C) 100.(C)
Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003
Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts.
Join the group and you may also share your suggestions and experience of Sunday Mock Test.
Note:- If you face any problem regarding result or marks scored, please
contact 9313111777

Ph: O955SS 10888, 09555208888




